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since all scores arise through teacher assessment. ( @&U@ a
) @ (1) How Many? Q
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fingers on each hand
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Note: Multiple copies of this CLIC Challenge are not provided

since all scores arise through teacher assessment. ( @&U@ El} \
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Write Uumber
200 () (2) mote thaa : ?zb Count backwards
300 900 petlessthan20 | lqugw,
Namc
Coount backwards (5) Douwble 20 i<
ks 83,82, B, , ,
(6) ©
5+2 =
Date: g+ <0
01234567891
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200 (1) (2 :’o‘::et ::“?;bef Count backwards
600 700 but less than 13 37,36,25,
-
NamicE
Coount backwards (5) Double 20 ic
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500 (1) @) ":’o‘;‘:‘; :a“n‘,';be" Count backwards \
600 900 but less than 11 28,27,26,
Namc:
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(6) (7)
2 +al =
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400 (1) @) .'::t:h: :,"’;‘;“"e" Count backwards
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100 (1) (2 ,““‘;:t:haa :,“;“;e" Count backwards
500 800 hut less than' 19 77,7675,
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Coound backwards (5) Dowble %0 i<
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400 (1) (2) Writeanumber Count backwards

‘more than' 7

700 900 but less than' 15 87,86,85,
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Cound backnards (5) Douwble 20 ig
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200 () (2) :’o‘::: 2 ::‘;be" Count backwards \
200 800 but less than 10 69 68, 67,
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200 (1) (2 ,m“o"::t:haa:,“;“:e" Count backwards
600 300 hut less than 76 5958,57,
Namc:
Count backwards (5) Douwble 10 is
24,23,22, , |
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500 () (2) ":’o‘;‘:et :::‘;be" Count backwards
600 800 hut less than' 10 %8, 97, %,
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4-6 @) Place inorder (2
/ N\ 12 11 17 M1

B Circle the odd numbers
160, 170, , 190, 200 4 5 9 24

@ Write the £act Camily Cor: 16 + 3 = 16 + 1 =
@@ @@8 Ity

) 1¢-2= © I6-7=
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37 @ Place inorder (2
/N 15 12 18 190

© ik the even numbers
10, 100, ,120,130 I b 20 2%
CIaSs:
@ Write the £act Camily Cor: 14_ + 2 = 1“ + 8 =
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® m-2- -8 =
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58 (2) Place inorder
SN 17 15 19 ™ 6
©) Girce the odd numbers
120,130,140, 160 b 9 1T 26
@ Write the £act Camily Cor: 12 + 3 = 11 +5 =
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/N 11 8 15 132 ||—l
© ik the even numbers
0,25,50, ,100 b 20 27 %2
@ Write the £act Camily Cor: 11 + 2 = 18 +6 =
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WYILDSIRSCORER) H R ERVRBE TR H TR




€ @eG | s )

© Andrell Education 2015

Raising Standards in Education

NS

@ Place inorder (2
12 18 15 1¢
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©) Girce the odd numbers

10 1% 21 4
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75 @ Place inorder (2
/N ™ 8 15 9

(5) Circle the even numbers

0,25, ,75,100 26 %5 41 47

@ Write the £act Camily Cor: ’—]3 + 3 = 19 +5 =
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@ Place inorder (2
15 12 16 11

130, ,150, 160, 70

©) Girce the odd numbers

] 14 21 49
((6) write tne cact camily cor: 16+ 7 = 18 + 8 =
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67 @ Place inorder
/N 16 9 12 19
f o
Hame: The nesdh number is... ) Gircle the even numbers
80, 40, 100, 10, 7 21 40 57
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98 (2) Place inorder (2
/N ™ 12 19 12

©) Girce the odd numbers
180, , 200, 210 4 @ 1% 24
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@ Write the cact Camily Cor: 15 + 3 = 19 + 7T =
Defies 549y

) 45.32 = ) 9-7=
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Double & Half of

o0 is 20 i<
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@ Write the cact £amily Cor: 4_O + 10 = M8 + 10 =
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400, 500, bouble
700, 900 3l is
Double & Half of

0 is 60 is
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Double & Half of
70 is 90 i<
@ Write the €act Camily Cor: 70 + 10 = 84 +19 =
GO +70 = (30
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500, , 700 24 s

Double ® Hatf of

o0 is 40 is
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@ Write the £act Camily Cor: 80 + 10 = 76+10 =
@@‘CE@S 20 -40 = 30
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Double B i of
50 is R0 is
(6) write fne cact camily cor: 90 + 10 = 62+19Q =
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0 is D is
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200, 250, 200,

J

N\uug is IAiAir\g

behind Hhe bigg%*l-
maktiple of S
Class: without going past 24
©) 0+30= @50-3-+ (8) 37 -4 =
Date: A
JA
®ap-5-= @ 257 -6 =
MZEEEE - N
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J

N\uug is IAiAir\g

behind Hhe bigg%*l-
MMH’iF‘@O’F&
Class: without going past 6F
(6 yo+qo- @30-7-* (@) 56-2-=
Datic: A
JA
® 5-6-= @ 75-8=
MZEEEE =|
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2000, 2500, 2000,

J

N\uug is hiding
behind Hie bigg%*l-
maktiple of S

Class: without going past 36

(8) 70 +20- @40-5* @) 29-6-=

DEE | /A\
EEE
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5000, 10000,
15000,

J

N\uug is hiding
behind Hie bigg%*l-
Mu“’if‘@ oF @

@D@@@S without going Pa\sl- 54

(6) so+30+ @90 -4 - @ e5-4-=
e TS s COR e FRNE U DR R 0
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30000, 35000,
40000,

J

N\uug is hiding
behind Hie bigg%*l-
maktiple of S

Class: without going past 4.
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behind +he bigg%*l-
MMH’iF‘@O’F&
Class: without going past 28
() 10+¢o- @ g0 -4 - (@ 86-5 =
Datc: A
JA
®ay-8-= ) 193 - 6 =
MZEEEE =|
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(6) 30+30°:
DAC: A
JA\
® 7-4= © 715 - 8 =
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N\uug is hiding
behind Hie bigg%*l-
Mu“’if‘@ oF @

Class: without going past 82

(6) 30+yo- @ 20 -6 - (@) 57-4-=
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JAl
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6000, ,/000

7500,

N\uug is IAiAir\g

behind Hhe bigg%*l-
mul'l-iflelo{"ﬁ
Class: without going past 48
(&) 20+yo+ @90-3- @) uH9-8-=
Defies A
A\
(@ g3-9= 820 -7 =
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€ @ge | s
Place in order | |@ Double 49 i R
39 93 54 69 2000+ 8000 =
Half of 300 is
(5)
4% X 10 =
47+ =100 . XIO 0y
(leses V= C é
©) 32 +2¢-= @ 83 - 49 - (@) H8 =5 =
Datic: k
(s) 36 6
+42 -4p
N
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f @eo | s )
Place in order | |@ Double 27 s R
43 77 68 45 6000+7000 -
Half of 48 is
(5)
b X 0=
62+ =100 ;OX ' 0y
Clesss = o
©y3+s2= @ g5- 53 - @) 26+2 =
DATC: k
2\ @%\ @
) o) o
© 53 75
+ 24 - 23
NS
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 dec 9 fWEIR
Place in order | |(@ Douile 36 i R
58 25 67 24 | | 8000+H4000 =
Haff of 500 is
©
28 % 10 =
36+ =100 8 o
470 + 0 = () é
(O 25+¢3= @ 31- 65 - (@ 20H =
) o) o
© U
+ 26
YIENSESCORER 10
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€ @ge | psm
Place in order | |(@ Doudle 18 is R
64 44 67 81 9000+ 2000 -
Half of 64 is
(5)
(00 — Y o4 X I0 = rg
720 - IO = Q é
©ey+25-= @ 74 - 47 - (@ 17°2=
& ) & k
i i -
) 45 68
+ 33 - OH
LY LAST SEokEz] [IRVE U BERT TR NP
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€ @gs | s )
Place in order | |@ Doudle 47 is R
22 71 28 65 5000 +4000 =
Half of 900 is
5
00 — 54 b1 X 10 = /0
5%0 + lO = © é
©) 57432+ @ 96-69 - (@ H1+5 =
o & o
® 62 19
+ 20 - 23
LY LEST SeekEz) [EVE U BERT TR NP
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£ @Eo | e
Place in order | |(@ Double 83 s R
76 53 75 88 8000+7000 -
Half of 26 is
(5)
23+ =100 15 X 10 = rg
be * IO = Q é
©® 2¢+¢gy= @ 92-56- {® 20+ 32=
3 ) > k
e & (P
(o) 23 56
+ 45 - 34
nY LOET SEoREE) RVE U BERTTRTE Jo
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@O ey )
Place in order | |(@ Douile 68 i R
34 43 53 42 | | 8000+9000 =
Half of 700 is
®
46 X 0 =
00- =43 . o"
0 -0 = o]
©)72+2¢= @ 67 -48- (@ 19 M =
© 5
T8
YIENSESCORER 10
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Place in order | |@ Doube 76 i
51 29 50 35 | | 5000+6000 =
Half of 88 is
(5
19 X 10 =
o =100 %"rOX 0 /" A
esss .0 = o
®ys+yz: | [@Das-57- |(@1322=
DAHE: z
© 42 85
jpaic -52_
NS
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£ @Ee | Wz )
Place in order | |(@ Double 96 s R
74 77 67 27 | | 7T000+7000 =
Half of 300 is
(5)
00- =25|| X0 o
4’50 + IO = Q é
) s1+3¢+ @ 93 - 56 - (@) 29+5 =
o & o
(9) 85 63
+ 2 - 2D
LY LAST SEokEz] [IRVE U BERT TR NP
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S cLic9 KWKToR
Place in order | |(@ Doule 56 is R
65 82 68 86 9000+ 9000 =
Half of 62 is
(5)
77+  =f00|] TX0= o
500 - 10 = ) éf
() 35 +qy= @ 75-48- 48 26 <8 =
o o/ o
® A4 98
+ 44 - o4
LY LAST SEEREY HOVERNBE NI HOna 10
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~

@

3000+ 8000 -

Double 39 is

Half of 500 is

@%5XIO

o0 + [0

I

(8) 28+5 =

2
)/
A

- \




S cLici 108 RWkS2N
(2) Double 37 is \
5000+ 2000 -
Half of 64 is
= 20 X 10 =
640 + 10 =

@00 -37= (8) 29+32 =

NS




WKz

~

cLid 10
(2) Double 46 is
H000+7000 -
Half of 300 is
B 43 %=
%10 « 10 =
@ 100 -ys=: (8) 22 +M =

2
)/
A

- \




ANcLici1o

Vzs 0% )

@

6000+5000 -

Double 28 is

~

Half of 86 is

1% X 0 =

19'@'2:

AN




€ @EIO | s
(2 Double 58 is \
9000+9000 -
Half of 900 is
(5)
5T X 10 =
@ 100 -5y = (8 yz+5=

AN




OO0

WiToh

@

Double 87 is

~

Half of 68 is

40 X 10 =

16+ 3 =

AN




WkI7h

~

cLid 10
(2) Double 76 is
7000+ 3000 -
Half of 700 is
)
B X 10 =
40 - 0 =
@D00-17: (8) 39 ¢4 =

NS




WK

~

cLid 10
(2) Double 96 is
5000+ 6000 -
Half of 64 is
(=)
21 X 10 =
920 + 10 =
@ 100-33: (&) 22+5 =

NS




cLid 10

WK

@)
9000+3000 -

Double 59 is

~

Half of 300 is

=)

4 X 10 =
170 + 10 =

@00 -7y-=

21+H =

NS
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Wik310h

@)
40005000 -

Double 89 is

2

Haff of 900 is
= 50 X 10 =
40 + 10 =
@ 100-¢3: (&) 2532 =

NS




Wik

B dLidi11
2) Doutic Hoa s Write your coin
20 card for. x 2
Y x 21
2
e Double 900 is 30 x 50 = 5
20
50
Cha 100
SISt
(6)  Molly is niding 493 + )5 = 526 + 19 =
behind the biggest
DAtE: multiple o€ 4 _
without 90ing past @ S
®  yuo 98|
+ 36 - 32
NG
WVIENS IS CORE! HRVERIBE IR H N2

-

~




e 11

K32 )

16. 20 (@) Doutle 200 is Write your coin
P card for.. x 7|
32, x31
2
Double 700 is 20« 40 = 5
20
50
e 100
SIS
(6)  Mully is hiding 534+ 62 - 345+ 37 =
behind the biggest
Djalc: multiple o€ 3
withovt 9oing past )
40 S =
9 0/\ @ 36'_'_ 8 L+ 2
. + 25 ~ 26
NS
@mini,  LYLASTSCCRET FRAE U BERA AR

-

~




@Gk Wzee )
(2) Double 200 is Wi , \
16. 20 rite Jour coin
, 10, 20, card for.. x 41
28, x 42
g 2
(WS
- Double 600 is 7030 = >
20
50
@D@SSg 100
(6)  Mully is hiding 7251+ 36 = H83+52 =
behind the biggest
Pafies mulfiple o€ |S
withovt 9oing past & &
Y | 1B /e 628
. + 13 —oH
NG

2/ w
e Y ERSIgS CoR ! FRAE U BERTTHRYEY @



dLici 17

Wik

NS

@) Doukic 100s Write your coin
20, 24, card for.. x 32
27 X 32
) /) 1
2
Double 800 s 80 x 20 - 5
20
50
100
(6]  Mully is niding 612+ b4 = 27 + 65 =
behind the biggest
multiple o¢ |[O
without 90ing past @ @
®  or7 /733
+ 32 - 8
WVIENS;TRSCORETA HV ERRBIENTRT H AT

-

~




WKT5, a

e 11
(@) Douricnoois Write your coin
24 card for.. x 24
27 x 24
) ) 1
( 2
: |\ [® 90302 5
NasTe Double 500 is 70 % 30 b
20
50
e 100
SIS
(6) Mully is hiding 165 + 25 = (8)567 - 48 =
behind the biggest
Date: multiple o¢ |2
withovt 9oing past ® @
29 =
A, ) (9) 663 8323
S + 24 ~ 96
NS
@mini,  LYLASTSCCRET FRAE U BERA AR

-

~




WKI

e 11
(@) Doutle 2005 Write vyour coin
o card Tor.. x %6
4 x 36

’ 1

(" 2

(&S | 4 x 30 = 5

(e Double 600 s #0x 30 o

20

50

e 100

S5
(&)  Molly is niding 746+ 32+ 785 - 87-
behind the biggest
Date: mul{iple o¢ |4
withovt 9oing past )
49 = =
4 o/\ @ 7'8 LI' |5
~ + ol peil
NS
@mini,  LYLASTSCCRET FRAE U BERA AR

-

~




e 11

Wik

@ D°"bf°2°° Write your coin
12,16, i card for.. x I3
78 x 18
/ 1
2
. = 5
Double 900 is 20 5 40 10
20
50
@ 100
SISS
(6)  Mully is hiding 861+ 2/ = 394 + 39 =
behind fhe bigg;sf
DAt multiple of
wifhwfsfi;'\ﬁ past 2
) ®  op3 347
~ + 30 28
NS
@mini,  LYLASTSCCRET FRAE U BERA AR

-

~
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e 11
@) Doule 100 is Write your coin
12,16, . card for.. x 26
28, 32, X 26
2
Double 500 is 60 x 20 = >
20
50
s 100
(6)  Mully is hiding 3728+ 61 = €78+:75 =
behind the biggest
Datic: multiple o5
withovt g;inﬁ past 2 o)
Y o/\ @ LI.SI_I. 2 LI' 2
s + 53 8/
NS
@mini,  LYLASTSCCRET FRAE U BERA AR

-

~
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dLici 17
@ o i
4 ovble X000 is Write your coin
;o card for.. x 44
, 26 x Uy
1
2
Double 800 is 70 x50 = 5
20
50
100
(6)  Mully is widing 514 + 74 = 6T + 9N =
behind the biggest
multiple o¢ |[O
withovt 9oing past & &
ysg o e
o, ® g5 D26
< + 13 gkl
WVIENS IS CORE! LEWE U B vhnvgy

-

~
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e 11
[2) Double 300 is Write your coin
, card for.. x 28
x 38
2
Wepie? Double 900 is 80 % 30 = >
20
50
el 100
S5
(8)  Mully is niding 481+ 10+ 559+78=
behind the biggest
Datic: moltiple o¢ | Y4
withovt 9oing past ® @
57 S
q 0/\ @ 365 6 OB
. + 32 ~ 46
NS
@mmi  DYCRETSEOREE FRAE U Bebir itiiced

-

2




Sciid 12 KRR
@ Place in order
3l B 33
-
NamC:
Nri-"@-'-k@ﬁ\ul-{-‘mﬂgf\w @ 9 + 215 =
4, 30=120
CIass: 2 -
53+ 4 = 686
Deles 549
0
igi
© 35
X D
NS
WYIENSITRS CORE! 0




cuie 12 KW

@ Place in order
204 DH? 245
-
NamC:
Nri-"@-'-kmfo\c{-{-‘milgfw @ 516 + Z§| =
5« 40 =200
CIass: 2 5
3/ 3= 7573
@@6@8 _|_8L9
0
igi
© 64
X
]l 2M8
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S cic 12 [z
@ place in order
02/ 6/2 2706
-
Namcs
Wik e fack Fami fo ) 642 + 25 =
3 x 50 =150
€Iass: Z 5
68 - 5 = 931
Defies 382
&
igi
© sy
X
=2 ]| uBF
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G
@ Place in order
D39 395 359
-
Name:
et Pk g for | | ) 20 + 462 =
80 - 2= 4—0
€IS’ 3 o
29+ 2+ 478
Deles +861
s,
igi
© 78
X 2
- 5155
NG
@) trtot oucoron i WYIENS;TESCORER! FEVE U BERT TR0 0




S ctic 12 KW=
@ Place in order
Ho8 84b H&6
KCU@
(D@8
Nrﬂ-e,-l-k@ﬁ\c{.{-‘mﬂgﬁ , @ 104 + 185 =
2’0 ~3 = -7"0
CIass: 7 o
69 - 4’ = 568
Deles +597
0
igi
© 57
X_ O
NG




Scic 12 KW

@ Place in order
/U3 W73 U3/
fCUéJ
(D@8
N'H'?/"‘Wb‘f"o\ul-{-‘milg for @ 44) + %50 =
8x40=320
CIass: 3 o
58 + 3= 78732
@éﬁ@g +6£
0
igi
© 74
X
N -l
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Sciic 12 Bl
@ Place in order
390 309 903
-
Name:
rite Hhe foch Pl or B 5338 + 241 =
CIass: 7 5
71 - 5 = 851
Defies H66
0
igi
© 66
X
= | 4R

© Andrell Education 2015

@ Anciel Esucaion b WVYIEYS TS CORERA HRV ERRBIE N TRTH T 10




Sciich12 KR
@ Place in order
o8l 8ol 8&lo
fCUéJ
(@S
Nr'rl-m-l—k@ﬁ\ul.{-‘mﬂg Lor @ 099 + 15 =
270 - 30 = 9
CIass: 7 o
b3 - 4‘ = 285
@@Cf@g +9ﬁ
0
igi
© q7
X 2
NG




O TrEo )
@ Place in order
o5/4 /b4 BH7/
fCUéJ
(@S
Nri-"@-'-kef‘o\gl-{-‘mi[gf\w @ 725 + |bl =
€Iass: 2 -
50+ 3+ 7438
Defies +586
s,
igi
© 80
X
ol »[86
AN
@) ot sucoion o WYIEN SRS COREZ CENE U BERT TR 0




€ @@ U2 | Wrsao

@ Place in order
H3D HH3 OH3
(CU@
(D@8
Nfi"‘@"'k@‘f"o\al-f-‘milgfw @ 4’]7 + 551 =
CIass: 3 o
86 b= 8325
@@Cf@g + QLQ
0
igi
© 93
X
— * 3[30
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S ciic12) UK

(2) Place inorder \
W2 2MI 231 | | 5. 51
(250, 1500, 1750, ||
o 2000, b T

38l

8l
R M) %
HRVERRBE TR H NI




€ @HE e | s

2) Place inorder
H625 526 H256 8 ou Lo

500,  ,l000, ||®




€ @HE e | s )

2) Place inorder
5381 81?5 5138 2| 28, ) : L—}q
(5)
)
— e
100 200 300 400

ely + <1000

77

D

Q6
e 0 BERTTELT DAL




€ @HIE e | Tpzen

2) Place inorder
2374 ZHT2 327 8 155U

| _— ﬁm




@ yE] Wze )

B.-17 (2) Place inorder \
|\ 6409 6OM NGO | | 5y 1, 5
2750, 3000, =
, 3750 T
@D@S@g ) 700

J

&

: MNEQBE%%Wﬁéglmnnrwigiﬁ




O ctvg 13 [t

(2) Place inorder
3785 3587 5738 | | , g 70
)

6000, .,
6750, 7000 .

@D@@@S 400 500 600 700

J

&

v
| HRVE Ur BERTRN AT )))))




et 13 [

(2) Place inorder
7612 7316 6731 U5 54 63

543+ (000

A HRVE Ur ﬁfﬂﬂl}&




€ @H¢ e | e

2) Place inorder
7865 5876 5768 36, Lo o

(500,750,
, 2500 R —




£ @k | Mo )

(2) Place inorder
8:91 819 8419 35 L9 63

12500, | |@
00 | 560 1o=c>oJK 1100

J

&

EYA
| HRVE Ur BERTRN AT )))))




EEE Oz do )
(2) Place inorder \
5378 5783 5387 A4 81,90
7‘50, ) 4 @
(500, {750 IS o

L

J

&

68
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€ @@t | g
Place in order | |@ FO.O R
46 64 44 NG~
475 74.5 475 } {

06+ 08 = © Hatf of 45 is
(leses

) 48 +10 = (@) 486 + 735 @8x79 =
Datc

) 5686 89

+ 749 X _6
N
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Place in order | |@ ¥O.0
37 33 /3 g
12| 147116

0.7 + 0.4 = ©® Half of 2% is
(llasss

(6) 76 =10 = (7) 268 + 574+ (8)e x 5i =
Defies

) 2),
(9) 837 /3
+ 68 -l
N
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€ @@t | s
Place in order | |@ FO.O R
52 55 25 g
2025730 R
05+0.3= ©) Hatf of 67 is
(llasss
(6) 94 =10 = (7) 395 + 46/= (BT xe63? =
DAte
(o) 6478 68
+ 2% X 7
N
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€ L Wze )
Place in order | |@ FO.0 R
83 78 0/ NG
32|34 151 | I
0.4 + 0.0 = O
Half of %9 is
(llasss
(6) 3510 = (@) 574 + 832= (&) 9xa8 =
DAte
(9) 3208 OH
+ 8 X 8
I\
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€ @QuE gLt Wzes )
Place in order | |@ FO.0 R
64 46 606 N
575|| 6 5|l | N

07 +07F= ® Half of 35 ig
(llasss

(6) 63 <10 = (@) 743 + 6957 (8 8x37 =
DAte

(9) 2879 L7

+ 465 X 9
I\

© Andrell Educati ion 2015 E}
@ Andrell Education Ltd @W &@@f g@@ @@Q
ssssssssssssssss in Education

HRVERRBENTRIH A



Ve 14 Bkl
Place in order | |@ FO.O R
73 37 27 g
6 |65 41| |

08+049= © Haf of 77 is
(llasss

(6) 135 +10 = (@) 867 + B46- (8) 6 x 85 =
DAte

(o) 8567 83

+ 638 X 7
N
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NS

€ @@ | sy
Place in order | |@ FO.0 R
98 88 89 gy
sAllzelf VT
06+07F= ©® Hatf of 57 ic
(6) 246 +10= @ 986 + 357- @) 9x58 =
(s) 5y 96
+ 967/ X Y
LY LRST SEBE2) [EVE | BERT TR 10



NS

Place in order | |@ FO.0
56 65 5b N
35 || o lloaslf |~ T
0.9+ 049 = B Half of 79 is
(6) 36710 = (@) 678 + 724- @7 x92 =
(o) 4586 75
+ 78 x 6
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£ @ e WrzEo
Place in order | |@ FO.0 h
74 47 77 g
45||507[55 1 ,

0.5+ 08 = ©) Hatf of 55 is
lasss

(6) 528+10= (@) 593 + 639 - @B 8xe7-=
Deles

(o) 6336 O/

+ 386 X 8
I\
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L 1) RS a%
Place in order | @ | @2@
38 63 006 _
301(325 E2
08 + 0.0 = =)
Hatf of 97 is
(leses
(6) 654 <10 = (@) 859 + 336 (8) 6 x 9} =
Datic: _
6, 7569 64
+ 0/3 X 9
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€ @9 e | g

M Place in order
421 241 221

2)
Half of 256 is

Write down 5 factors
of 30:

(5) 476 - g4 -

(6) 50+6=

NS

~

Mully is hiding
behind the biqgest
multiple o¢ |4
without 9oing past




£ @9 E | ren
@ Place in order | |@& Mully is hiding \
573 537 753 Half of 438 is behind $he biggest
mul{iple o€ 3
p withovt 9oing past
Namc:
Write Ao:FA‘Z factors 61 - 5 —
C1ass;
@ 4’7 - q =
DATC:
©®  yp
X 8
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e8| Wres )
@ Place in order | |@ . Molly T widing L
384 4083 433 Half of 67H is benind he biggest
multiple o€ |5
withovt going past
p
(M
m@ & Write down 6 factors 54% _ 71 _
of 24
Class:
@ bO +~8=
DATE:
® 285
X 7
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Scic 15 BN

M Place in order
651 561 615

2)
Half of 522 is

Write down 6 factors
of 4-0:

(5) 28 - ¢ -

@53-1—?:

NS

~

Mully is hiding
behind the biqgest
multiple o€ |6
withovt 9oing past




Scic 15 R

M Place in order
298 283 302

2)
Half of 296 is

Write down 6 factors
of ©0:

(5) 445 - 57 =

@ 58-1—6:

NS

Mully is hiding
behind the biqgest

multiple o
withovt going past

~
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WiToh

M Place in order
897 879 9087/

2)
Half of 784 is

Write down 6 factors
of S0:

(5) %4 - g -

@ 75-:-Q=

NS

Mully is hiding
behind the biqgest

~

mulfiple o€ [ I

without 90ing past
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~

@ Place in order | |@ Mol s idig
458 548 Aps| | MafefSSis || baindfuebissest
mul{iple o€| 9
without going past
4 Write down 5 fackors
s 5% - 16 =
CIass:
@ 78 - 8 =
Defies
® 635
X7
L\




€ Qe | e

@ Place in order
736 673 63/

2)
Half of 272is

Write down 6 factors
of 72:

(5) 940 - ¢ -

@ bo+?=

NS

~

Mully is hiding
behind the biqgest
multiple o€ |6
withovt 9oing past




€ @ E | e

M Place in order
587 578 8b7/

2)
Half of 956 is

Write down 6 factors
of 100:

(5) 426 - 59 =

@4’5+b=

NS

Mully is hiding
behind the biqgest

multiple o
withovt going past

~




cLic 15

Wik310h

M Place in order
612 622 6721

2)
Half of 794 is

Write down 6 factors
of 48:

(5) 677 - a3 -

@ 86-:-‘1:

NS

2

Mully is hiding
behind the biqgest

mulfiple o€ [ I

without 90ing past




@G| Trea )
008 + 007 - 2)
H-8+ =19
4 x 0% = &) Muly is hiding berind the B
biggest multiple o% blwithout | 5
going past [429 7}37
C1ass;
(B oy+o3= 08+09 - H134 - 75 =
Date:
. & )
@ o3 - p = 8D
X106

D ° g
o
@iy LYLASTSEoDEn FENE U BERTTIRTEY @




duid7e [WERIR
006 + 009 - @)
3-76 + =10
2, % 0,8 - (5) Mu"g is hiding behind the P4
. . % A
iggest muttiple ot [T Jwithout
going past 570 ?:7
lasss
(&) os+0y: @ 06+07 - (&) 3625- ¢4 -
Deles
9 < ,
® 2854 - 5= 63
X7

D ° g
o
@iy LYLASTSEoDEn FENE U BERTTIRTEY @




ctic 16 W
003 + 005 = (2)
O-5i + =1
3 x00= ) Mully is hnohn% behind the ML)
biggest mquple of[5]without [ —5
90ing past [463 2
Class:
(6)oc+0.2+ 08+ 05 - 1921-58 =
DAC:
. & )
@ U -7 = 57
X2 D

\ = ‘
o
@iy LYLASTSEoDEn FENE U BERTTIRTEY @




G WEn )
007 + 006 - @
10 - =6-3
- &) wul is hiding behind the
4 ‘1 = 4
5 x 09 biggest ngmquple o% R Jwithout | -
90ing past [5%5 7>\7
CIaSs:
(o3+o0s: 07 +09- 5362-47 -
DATE: a
@ @ :@:
® 2325 - 8= 16
X2 8
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S dLici1e wc@@\“
004 * 008 - @ 361 X 10 =
10- =179 783 =0 =
8 x 0-F = &) Muly is hiding berind the PR
biggest multiple o%ﬂ without o ‘
going past (400 ?;7
esss
(6 o7+02: 08+ 06 = (8) 6180 - 22
DATE:
X3 0

2 g y
r L
@ e WYIENSESECORER HRVERRBENTRTHNT @




ARG =6
009 + 003 = @
1- = Q-H5
4 = B Muly is hing behind the
1x 0-4 biggest ngnqupk o% blwithout | o ‘
going past |80 7>;7
lesss
®oy+os: 09+ 03 - 2513-36 -
DAC: ~
@ @ :@:
®) 543 = 6 = 69
xXa /7
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CE@EdE | Wy )
008 + 005 = (2
56-8 + =100
7,06 = (s) Muly is hiding behind the Mo
blggest muHkaa o% Twithout | o ‘
going past [508 ?@7
CIaSs:
(®) os5+0.2° 08+ 04 - (&) 7435 - 88 -
Datc:
XD 0

r L
@ banitnem WYIENSESECORER HRVERRBENTRTHNT @




€ @ie 96 | rze

007 + 009 = (2)
100 - =15.¢6
609 = (&) Wuly is riding berind the  PED)
. e oH[S | A
biggest multiple of [ Jwithout
going past [675 ?37
Class:
(B o3+04: @ 05+07 - (8) 2648 -59 =
DAHE:
) & =
@ 724 - 8 = 08
Xo 4

~ L
2 0NE
et DULASTSCeRE) IRVE U BERT RS @




€ QPG | Tz )

06+ 008 = @
006+ 00 0382 x [0 =
10 =4.19 + 074 =0 =
- (5) M\AH is hiding behind the B9
4 = 9
3 X 0 7 blggest MUIHZIP|€ o% 9 Iwithout |
going past [150 ?;7
lasss
(©oz2+0y4: 08+ 08 * H2532-78 =
Date: R
@ @ :@‘
) 632 -9= 16
X23

\
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S ctic 16 KWiTioh
009 + 009 - 2) R
_ 266 x 10 =
0-36 =1- 0435 = 0 =
Qx 09 = ) Mully is hiding behind the 1Y
blgges.t muHuple o% blwithout [ 3
going past |505 7>37
Class:
(6) oc+03* 09+ 09 - 6512-43 =
DAC:
. & )
X /9

eEte,  LULASTSEoRED IR0E U BEATTERTEY @




Ve 17 Wikl

~

: @4 x 009 = Mully is hiding
2.8 x 100 behind the biggest
1 4_3 - 1OO _ multiple of |4

without going past

C/ivde,H\b@ (5) 49 + 24 =
$%AYQ/ NuaMbwrs
4 1o

lesss 25 219

(6) ye3 - 139 = 868

D82

Deles + 654

® 45135

X
10 61503
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S cric 17 BWicia

~

.6 x 100 = #8007 2 behm;J ”Tyhies Qgggsr
257 = 100 - oy g £
ot | B 6T 8 -
30 4%
Clesss 03 8l
() 53¢ - 273+ 1/9
Datc: ’ +%ﬁ
©) 203
X 18 7195~

N
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€ @9 7/

WKz

NS

@6 x 004 = Mully is hiding
352 x 100 = behind the biggest
46 =100 = multiple of |2l

' without going past

Civcle the

square numbers
4 10
20 100
(6)32¢ - 167 =
© 516
X 24

~




€ @9 7/

Wik

NS

@) 7 x 008 = Muly s hid
. y Is hiding
781 x 100 - behind the biggest
39+ 100 = mulfiple of [32
' without going past
Civcle the
square numbers
4 10
20 100
(6) 793 - 332 =
© 872
X3/

~




@ s

~

@ 9x 005 = Muly is hiding
0.26 x 100 * behinc;J Th;S biggest
154 + 100 = multiple of |26
without going past
Circl the ® g3 + 47 =
s%ﬂ\ﬂb NuMowYr's
24 30
CIass: 48 o4
(6)331- 437+ 833
27D
Deties +749
© 6§ 3
X
0 61807
NS
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€ @9 7/

WiTcm

NS

(@) 8 x 004 = Muly is i
) y Is hiding
075 x 100 = behind the biggest
- - multiple of L6
626 ~ 100 without going past
Civcle the
square numbers
25 419
063 90
(6) 623 - 235=
© 97

~
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O cive 17 RWikElZN
@) 5x 007 = Mully is hiding
0064 x 100 = behind the biggest
- = multiple of |4l
05+ 100 without going past
Civcle Hhe B 47+ 75 =
square numbers
e 52
8l 99
(B)yz2 - 149= 4038 563247
+ 7954 -23869
)
® 478
X
el 71528
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e 17 Rwiclelh

~

] @) 6 x 008 = Mully is hiding
0092 x 100 = behind the biggest
08 =+ 100 = multiple of [/
' without going past
Civcle the B 64 + 98 =
square numbers
3 28
Class: 49 8l
(6)sc7-218= 4326
@ D37/
Date: + 2143
® 786
X_006
96 81667
L
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C cuic 17 fWicioln
@ ax009= Mully is hiding \
007 x 100 = behind the biggest
N _ mulfiple of  [24
6532 = 100 without going past
Circlo e ) 35 + 68 =
$%AYQ/ NuMbwrs
20 25
36 29
(6)775 - 433 = 2845
+ 657%?
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X
/3 6|45H2
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Wik310h

NS

@ 8 x 008 = Mully is hiding
0009 x 100 = behind the biggest
1845 = 100 = mulfiple of [38
| without going past
Circlo e B) a4 + 88 =
$%AYQ/ NuMPoY'S
2 lo
40 3l
(6) 353 - 77+
© 698
X 87/

2




( CENC T8N BWKERT )

(2) Round to the
nearest 1000 .
2,567,328 )
20
3 The gap is (5) 431 % 1000 —
i %48 + 1000 =
circle the 389+ 247 = (B y.5-17=
ane Numbers
@) 272-1= 31686
+ 66DH9




( CLEICN T8N BWKER2! )

(2) Round to the
nearest 7100 .
0 -100
e Theweis = 12 X 1000 =
s -8 — 462+ 000 =

Circle the 463+ 174 - 6.3-4.8 =
@ o Prime Numbers
el@s
2 W 21 3 — ~
) ‘@;7
(9) 208~ 1= 282
+ | 2793




(2) Round to the
nearest 10,000

436,594

ScLic13

The gAp Is (s)

0.75 X 1000 =

circle he .75 + 483 = 3H-15 =
Prime Numbers |
(9 480-16= La3U9
+ 20467
HRVERRBE N Tl H T2




(2) Round tothe
nearest 1,000,000

ScLic13

H8HT6H92 »
-00 -150
25 Tearis |18 000 000 -
-6— |Z + IOOO =
circle the 596 + 2.78 = (8)7.2-4.6 =
Prime Numbers
7 (3 27 33 _ ~
:@: :-'é
(® 3%-B= 7384
+2D0183
HVENNBENILTH DAl 10




( CLNC18) BWKELS, )

@ Round to the e
nearest 10,000 _
8,219,564 é
00 200
4. - -] -
> Thoaps 0006 X 1000 =
- . 58 + 1000 =

658 + 187 = 8.6-3.9-=

circle the
Pri me NUWIbQYS

:@; :%7
(®) pug - 24 = 53575
+ 21476




(2) Round to the
nearest 1,000

S cLic 18

364932
»—ZOO - -300
S5 Teeris ||B5q X 1000 =
circle the 467+ 784 = 51-14 =
Prime Numbers

3 17 28 37 _ _
:@: :'é

(®) 80032 = 82pU7

+43185

[ENE U BERTITIRiE) 10




S cic 13 fWi7an

(2) Round to th
n:a::":zst“"ltooe ;
61:,287 é
-300 450
-l — i (5)
4 The gap s 24 X 1000 =
CIASS: -7 — 989 + 1000 =
circle the 874 + 569 = 9.7 -4.8 =
Prime Numbers
(972 - 36 = 53684
+ 19586

FENE U BERTTRRTEY 10




@ Round to the
nearest 100,000

ScLic13

72,503,185 )
-H25|- 525
27 Thegwps %34 X 1000 =
-5— T+ 1000 =
circle he 3.85 + 867 = 6.5 - 2.7 =
Prime Numbers

g 3 ys _ —
@: :'g;

(8 570- 1= 78306

+ 20497/

[EVE U BERT TEIRT2Y 10,




@ Round to the
nearest 1,000,000

5,093,964

S cLic 18

)-575 -

-6/5

The gap is (5) 5T

X 1000 =

95800 + 1000 =

713 29 33

circle the /68 * 635 = 7-3-15=
Prime Numbers
(8) 2730 - 26 = 93678
+ 28475
HR ERRBENTRTTH NI




(2) Round to the
nearest 1,000

ScLic13

784,569 )
275

A Thegpis | |O 09 X 1000 =
-6— 006 + 1000 =

Circle fhe 939+ 486 = | |(B)8M-32.6=

Prime Numbers
@ QU -~ U2 = 0Hh837/
+ /8498

HRVERRBE TR H AT




Place in order
1444 171 16

56-375=

Cligses
) )
=
438+0= 8689 + 654 = 8-625-4-8=
Datc:
— ;
igf % ;
) 524

X 20

N
@ Ancel Edcation Uid WVIENS;TRSCORETA HRV ERRBIE N TRTH T 10




Place in order

28 3286 302
8.4 - 584 =
esss B
(6)276+ 4 = 3475 + 586 - 3463 -17=
Defies
& %‘
(8) 352

x H6

N
@ Ancel Edcation Uid WVIENS;TRSCORETA HRV ERRBIE N TRTH T 10




Place in order
761 2604 27
FR8-252 =
@D@ggg
(6)385+5= 4928+ 1263 - 5.718- 2.84-
Deles
~ ;
o %‘
(9) oD
XS/
L\
LY LRST SClE) Yoy




Place in order
AQ57 47 45/

037-40-=

Class: =
o) ®
(6)525+7-= 737 + 8956 - H.346 - 1.56=
DATE:
@ A
igf % ;
(o) H67

X 23

N
@) Anctel ccucoron id WVIENS;TRSCORETA HRV ERRBIE N TRTH T 10




Place in order
63 613 6381
45 -18 =
lasss 2 &
S
) o72+8= 9536 + 488 - 124 - 6.83-
Defies
o %‘
6, 84
XD/
N
LY LRST SClE) Yoy




Place in order
586 b6 H5B/0

532-37=

giss
(6) 594 - 6= 136+ 574 - 42.2-7.56=
Datc:
(o) 233

X 6D

AN
@remnie, WY LESTSEORES) HRVRBENEHE A 10




Place in order

7463 734 76

3F-1045 =
Qs

() 756 +9= 12468+ 98 - 64 -2.176=
Defies

(o) 38|

X 84
I\
LY LRST SECRTY 10,




Place in order
95 9516 952
54 - 3784 =
(llasss &
(6)392+7= 12468 + 98 - 64 -32.176=
Defies
igf % :
(o) 507 A
-
X 76
i G104

@ Ancel Edcation Uid WVIENS;TRSCORETA HRV ERRBIE N TRTH T 10




Place in order
807 8162 8l

825 -2378 =

CI3SS: = ]
i@? @
(O)464 - 8= 185 + 8069 * 154 - 18.1- 6.708-
DAHE:
@ &
igf % ;
©) L8y

X 49

N
@ Ancel Edcation Uid WVIENS;TRSCORETA HRV ERRBIE N TRTH T 10




Place in order
2465 34 34D

768 - 3546 =

Class: ) D
(6) 612 +9= 27382+ 75+ 25.2. 7.050-
Defles 6148 -
fg&% /
& % 4
© 665
-
X8/
s\l
myUNSSCORE 10




S ctici2o

Wik

Class:

Deles

e 208

PLATINUM.

\_

W 8-2%

(2) Five sixths add
seven ninths

Explain why 36%
S less than 3/8

(6) wWrife down 3
craction befween
/3 and I/2

Convert 5/8 indo

A porcentage

8 Increase £22 by 151

Decrease 7 2m
by 357

A recipe for 6 people

includes 75 0@ml of orange
Juice. How many millilifres
would be needed for 1Q people-

@ There is a 30% sale A boy paid £H0 for a camera
in the sale What was the original price of

the camera?

Divide 180 in the ratio 345

WYIENSIESCOREZ!

HR ERRBETRTH !

~

10



cLic 2o

W2

D 10+% -

@ Eleven twelfhs
take away three cights

Find 35% of
H8Kg

~

&) Increase S6em by 15/
(3% of 48
Class:
(6) write down a Decrease £0/ etades 450 of o
. FY&C‘HOV\ be‘fweeﬂ by ].O/ how many grams would be
@@6@0 ‘y4 an d % needed for 8 people?
\_
(o) There s & 20% dscount in a Divide £9 in the ratio 24
e E 7 sdle A grl paid £30 for a pair of jeans
‘ - g N The sale What was the orgind price
—Giallenges” f the jeans?
PLATINUM B el
@ LY LEST SClEr) HEVERRBERRTHN R 10




WKz

Class:

Deles

e 208

PLATINUM.

nnnnnnnnnnnnnnnnnnnnnnnnnnn

\_

@ 24 x3% -

@)

seven sixfeenths
add three twelfths

S ctici2o
Find 3% of
LM

C/o/\VM‘F 0.55 "'o A
percentage

Increase £50 by b1

@ How would you change Decrease 4-50m ;u':: ltis ;;:':::;i::::’?
any €raction {0 an equivalent by 5 / miles be approximately the
percen{age? same as?
@ There is a 10% discount in a sale if the rafio of boys fo girls

Mark pays £450 for a new TV in the
sale What was the original price of the TV?

n a class is 31, could there be exacfly
30 chidren in the class? Why?

WYIENSIESCOREZ!

HR ERRBETRTH !

~

10



cLici 2o

Wik

Class:

Deles

e e

PLATINUM.

\_

(1) 24 of m -

(2) Work out:
1%+ 2%

27% of 63m

Change eight ninths into
a decimal o 4o decimal
places

5 Inerease T2kg by 25/

(&) Which is closest
{0 132 0.3 or 0.4?
explain why

Decrease £98
by just 17

Mary pays £68 for 3

mobile phone in 3 sale
that originglly cost £8@- What
percentage discount did
she get?

@ Ticket prices are increased by
0% Ali now pays £880 for a ficket, what
would he have paid before the increase?

The angles in a friangle are In
the rafio 657 Find out the sizes of

fhe three angles

WYIENSIESCOREZ!

HR ERRBETRTH !

~

10



cLici 2o

WIS

Class:

Deles

e e

PLATINUM.

\_

12 +3/5 =

@

Y6 add %5
take away %

Ann says thal
L18% of £56 is £3248
Explain why she must

be wrong

Write seven
twetths as a percentage.
Give gouf aswer o one

ecimal place.

(5 Inerease 6%em by 51

(6) Starting with What is a quick way The height of 2
one fenth = 0.l = 10%, of decreasing any number ;gnt ‘;as mtf;eas?d. byl
W o . Y cm from its origing
hg;" f:.::,e}‘:‘:lilen?@s by 577 height of ©.8m. What is
y vt the percentage increase
inheight?
@ The value of Ann’s car decreases Some money is shared

by 25% when compared with what she
paid for it 2 years ago It is now worth
£3600 What did she pay for the car?

between John and Ann in the rafio
35 John gets £24, how much
does Ann receiver

WYIENSIESCOREZ!

HRVERRBENTRIH O

~

10



S cLici2o

Wik

CIass:

Deles

e

PLATINU

\_

What ;S @ Explain why Work out 98%
32x 787 Y + % does not of £40 Is there a

equal ¥s quick way?

Put Hhese ®)  herease 38Kg by 551

in ovder: 044, %3,
0.7, 75 starking with
Hhe smallest

. Imranscores H5
(&) Write dowun Deorease. 9 of 6@ in his maths test.
3 PerCe".f.asQ by 25 / The following week he
5 scores 54 out of 60- What
bQ‘f‘WQQV\ / 5 is the percentage increase
a“d 0.43 befween the two tests?
@ For one day only prices £54 is shared befween

are reduced by 5% Paul buys a digital
radio for £38 What is the cost of the
radio before this reduction?

Steven and Ali so thaf All gets
fwice as much as Steven How
much does Al get?

WYIENSIESCOREZ!

HR ERRBETRTH !

~

10



S ctici2o

WKkS7h

\_

o

Deles

e

PLATINU

nnnnnnnnnnnnnnnnnnnnnnnnnnn

\_

What s %
of 14-om?

@ Eight ninths
take qway five sixths

How could

you work ouf 2Y9%
of a quantity?

closest+o 737 0.6 or
0.7 How do You know?

(s) Increase 500ml b\j 0.5/

(6) Write down a
deCimal between
15 and 30%

Decrease 300m|
by 707

Jenny pours out

15 0ml of milk from 3
Jug leaving 8 @~ of the
origingl amount of milk in
the jug. How much milk
w3as originally in the jug?

My weight has increased
from 80Kg to 84Kg What is the
percenfage increase in my weight?

The ratio of boys o girls in a
class is 23 What fraction of the
class are boys?

WYIENSIESCOREZ!

HR ERRBETRTH !

~

10



Bcid2o

WK

How many
times does %4 divide
into 127

(2) What is
HYi-177

s 30% of 42
the same as H42%

of 30? Explain
your answer

~

g &) Find 1057 of 420m
If3/5 of Xis £490,
- °° ?
s what is 54 of XT
@ Would you Jake says that to (8) 1eut 7@cm off
. precer {o have decrease any number Dy alength of rikbon so
@@CE@O 2 / +1 > 207 you just multiply by that f.he vibbon is now
5 oY /2 q 08k he right? 65 of its original length.
- gnv What was the original
Explain your answer. length of the ribbon?
\_
e @ Jane buys a laptop computer |
G EU y gﬁ;@o ?nd Er;ig s@Iﬁ it two Divide £4200 in The
e er for - What is her i~ |0
P]L ATI w M \ percenfage loss? ratio 2.5
@ Andrell Education Ltd @27 Uj@@f g@@@@@g mﬁm U %‘E fmﬁf@g W




Bcid2o

WK

o

What s 35
of 19Kg7?

@ Explain why
equivalent fractions
are imporfant when

adding and subtracting

fractions.

Explain how 10

find a percentage of any
number. Which are easy?
Which are harder?

If %6 of yis £25,
whatis V2 of 5?

&) What is 2007 of T8ml?

~

(®) what eraction Decrease 4-3Kg The number of
. R _ 1 upils i hoo
@@ﬁ@o "es halc Wway by /4 i:crpea:e: ‘::e:cthe Ila::sz
bga‘-ween oy );.e'z:s from 600 to 630
° tisth
and 43 /o? incre:se sin p:l:?lr::t:?:res?
\_

@ | A bookshop offers a 15% discount
me 0009 if you buy more than fwo books Tim

c @U buys 4 books and makes a saving of £3
C‘hallenges! How much would the books have

P]L ATINU M \ cost Tim without this discount?

WYIENSTSSCOREA

Potting compost is made from loam,
peat and sand in The rafio 732 A

gardener used 10 Iifres of peaf 10 make
compost How much loam did she use?

\

HRVERRBERTRTHRRA 10




Bcid2o

WiKi10

\_

o

Deles

e

"

PLATIN

nnnnnnnnnnnnnnnnnnnnnnnnnnn

\_

In a survey of 40

pupls, % like basketbal
2/c like football and the
rest lke swimming How

many liked swimming?

@ Take H%5
from 575

John says that if you

Mcrease something by 10%
and then by another 10% i
is the same as increasing
it by 20% Is he correct?
Explain your thinking

It 78 oft nis 63,
what is % of AP

®  |herease 75 by I

@ W . A shopKkeeper
’.ha‘f cYaC‘fIOV\ \ \C \ (Y\Orﬁage E reduces his pl:eices
be_fwee 3/ N y . ge increases them by 19+
n 34 5 2 Wh at (S V\? Are the prices now back
and 0.75? : ' to their original price?
q Explain your thinking.
@ Cheryl sells her old bicycle for A sum of money is shared

£H5 making a loss of 70% on what
she originally paid for it What was the
original cost of the bicycle?

between Sue and David so thaf Sue
gets 50% more Than David What is the
rafio of David's share 1o Sue’s share?

WYIENSTSSCOREA

2

\

HR ERRBETRTH !

10
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